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Unit knowledge

Knowledge of trigometric functions can be applied to real life scenarios in order to understand the nature of cyclic processes. There are two ways to describe an angle either radial or degree measurements. Trigonometry describes an angle in terms of a rotating ray. Co-terminal angles are important in understanding the cyclic properties of trigonometric functions. In terms of radial measures a conterminal angle would be 2kπ more than the original angle. In terms of degree measurements a co-terminal angle would be k360˚. Radians can be converted to degrees through this equation: rad= 180˚/π.
A degree equals 60 minutes and 1 minute equals 60 seconds. This is an older method of describing degrees. Converting radians to linear measurements is very easy because radians times the radius of the circle yields the linear distance of the angular measurement on the circle. 

A unit circle is a circle which has a radius of 1 and the circle is centered at the origin. To describe any point on the circle you use P (x, y) where x2 + y2 = 1. The angular measure theta is created by rotating a ray, theta degrees clockwise until it intersects with p(x,y). In a unit circle the sin of theta equals x. A tangent equal s y/x. A cotangent equals x/y. A cosecant equals 1/y and the secant equals 1/x.

A sinusoidal graph is a periodic function which can be described in terms of y=asin(bx+c)+d. A cosign graph is the same as a sin graph but is displaced by π/2. a = the difference between the average and the maximum or minimum. b = 2π/period. c equals displacement of the x coordinates either left or right. D equals displacement of the y coordinates either up or down. Cosecant and secant functions can be described by the inverse of the above equation. Whenever a sin or cos function intersects the x axis, the sec and csc will equal ±∞. Those points represent asymptotes. D can be found by determining how far above the x axis the average of the maximum and minimum  points are located. A tangent function uses  a different primary function , y= a tan bx=c)d. The b can be determined by using the equation b= π /period. 

Trigonometry was used by the ancient Greeks to measure the two sides of a right triangle. If the first leg equals x, the second leg equals y, and the hypotenuse equals r, then several trigonometric equations apply and are closely interrelated. These can be applied to various everyday problems, such as determining the height of a building or the depth of a depression by either the angle of elevation or depression and the distance from the base of the object.
Assessment

I feel that I have mastered the majority of the concepts in this unit, with the exception of the amount of horizontal displacement between a sin function and a cos function. I made several types of errors on the test. These include the following: inability to communicate my answers using the required format, mistakes in determining the quantity of horizontal displacement, and failure to check all answers carefully.
Corrections

1.c. I described the cosine of θ2 in terms of X and Y instead of X,Y, and R.
When P(x,y) the cosine θ = x/r. Since P(-x,y) x must equal –x and thus cosine θ = -x/r.
cos θ = x/r. P(-x,y), -x→x cos θ = -x/r.

The correct answer is: -x/r
1.h. I described the secant of θ3 in terms of X and Y instead of X,Y, and R.

When P(x,y) the cosine θ = x/r. Secant θ = r/x and thus Secant θ2 = r/x.
cos θ = x/r. sec = r/x . sec θ2 = r/x.

6.a. I put the parenthesis in the wrong place.
Write the basic equation a sec b(x+c)+d. b=2π/period thus b=2π. Shifted up to thus d=2. π/3 to the right thus c = -π/3. plug it in and get sec2π(x- π/3)+2.
The correct answer is: sec2π(x- π/3)+2
6.b. I did not figure out the correct b.

Write the basic equation a tan b(x+c)+d. b=2π/period thus b=2. 3 is coefficient. Plug it in and get 3tan(2x)

The correct answer is: 3tan(2x)
7. I did not figure out the correct b.

Write the basic equation a cos b(x+c)+d. b=2π/period thus b=1. π/3 to the right thus c = -π/3. Plug it in and get cos(x- π/3).

The correct answer is: cos(x- π/3)

8.d. I did not account for the horizontal displacement of the inequality.

Asymptotes are displaced by π/2 and appear every π. Thus the equation for domain is X ≠ Kπ + π/2.
The correct answer is: X ≠ Kπ + π/2
8.e. I did not right the answer in the correct format.

Period is π.
The correct answer is: π

9.b. According to the trigometric identity sheet sec(3π/4) = sec (-3π/4). There appears to be nothing wrong with 9.b.
3. I misunderstood the corrections we were supposed to make on the test, and I still do not know what the question truly was.
4. I misunderstood the corrections we were supposed to make on the test, and I still do not know what the question truly was.
7. I did not assume the correct features to describe and did not convey that the period of the function was changing when I attempted to described the period as variable.
Graph then describe the attributes of f(x) = c + sin(1/x)
The correct answer is: That the function is a straight line with the attributes of a sinusoidal function with a period that changes as x→0.
10.b. I wrote b down wrong and miscalculated c.

Use the calculator to find a. Subtract π/2 from c in a sin function to find the c in a cos function. Write it out and get 3.084cos(1.0507X-2.683)+8.981.
The correct answer is: 3.084cos(1.0507X-2.683)+8.981

